SEE(RLK)
H26.35& R2.3k R3.3%
52.1% 63.9% 64.8%

= PREEEROENIRR (R3.3K)

STHETA 30T ATt
EhEEEEEEHE
AT A 5 29TH BT 44
EEREMBOERENDHD
ufteiton 29TH BT 4

X1 8 FH A O T ET 4 (SR R B D R TE LG VTETH (1)




£HEE(BEL£K)
H26.3% R2.3K R3.3%&

50.7% 65.0% 66.5%

=P EEEROERRR R (R3.3K)

2TETF 3 15T AT+t
EihhEEREEER
T ET AT 5 15T BT
B ¥R Eihig D
BREDHS 15T BT
GiIESE:




 mNR

EER(BE2F)
H26.37k R2.3%k R3.3%
42 6% 61.2% 62.4%

=P EEEROERRIR R (R3.3K)

iR SE-

19h BT ¢

DilIERE

DilIERE

EERREMBOEREDHD 19Tt AT AT




SEER(BLK)
H26.3%& R2.3%k R3.35k

90.8% 66.7% 67.6%

PR EEEROENINR (R3.3K)

2HETH 3k 17Th BT
EihhEEEEEER
T ET AT 5 17Th BTt
%%ﬁmwﬁmaiw&é | 7HEET A
BilIESE:
(%)
80
60
40

20






